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4 PART A:Grammar and Viocabulary

4 Directions: Puestions 31-35 .are incomplete sentences. Beneath each sentence you will see four words

| or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mnark your answer sheet. ',

31- A: “Excuse me, I need to talk to someone about our hotel room. I am afraid it is simply too small for

four people.”
B: “That man at the service counter ............ you.”
1) is going to help 2) helps 3) will help 4) help
32- 1‘finished the exercise in five minutes. It was ....... ..... homework the teacher has-ever given us.
1) easier than ' 2) as-easy as 3) the easiest 4) easy
33- The space shuttle goes into ............ like a rocket and returns to earth like an aircraft.
1) system 2)otbit ~ 3) vision 4) nature
34- Over forty peeple have lost their homes following a fire which ............. -an entire apartment building.
1) endangered 2) placed 3) collected 4) destroyed
35- 1think a certain amount of werry about work is very ............ , but you’ve got to keep it under control.

1) dangerous 2)increasing 3) natural 4) protective



ey @ Jlgaw

PART B: Reading Comprehension

Directions: In this part of the test, you will read a passage. The passage is followed by five questions.
Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

Paper is one of the most important products ever invented by man. Widespread use of written language
would not have been possible without some cheap and practical material to write on. The invention of
paper meant that more people could be educated because more books could be printed and distributed.
Together with the printing press, paper provided an extremely important way to communicate knowledge.

How much paper do you use every year? Probably you cannot answer that question quickly. In 1990,
the world’s use of paper was about one Kkilogram for each person a year. Now some countries use as much
as 50 kilograms of paper for each person a year. Countries like the United States, England and Sweden use
more paper than other countries.

Paper, like many other things that we use today, was first made in China. In Egypt and the West, paper
was not very commonly used before the year 1400. The Egyptians wrote on a kind of material made of a
water plant. Europeans used parchment for many hundreds of years. Parchment was very strong; it was
made from the skin of certain young animals. We have learnt of the most important facts of European
history from records that were kept on parchment.

36- Which of the following is NOT mentioned about the invention of paper?

1) More jobs could be provided than before. 2) More people could be educated than before.

3) More books could be printed and distributed. 4) More ways could be used to exchange knowledge.
37- When did the Egyptians begin to use paper widely?

1) around 1400 2) around 1900 3) around 400 4) around 900
38- Which of the following countries uses more paper for each person a year?

1) China 2) Sweden 3) Egypt 4) Japan

39- What was “parchment” according to the passage?
1) the skin of young animals
2) a kind of paper made from the skin of certain young animals
3) the paper which is used by European countries
4) the paper used by ancient Egyptians
40- What is the main idea of the passage?
1) More and more paper is being consumed nowadays.
2) Paper enables people to receive education more easily.
3) The invention of paper is of great significance to man.
4) Paper contributes a lot to the keeping of historical records.

Sean pla5 (A UAY) - Ay Joolo wasty Ay =(2, 22N 51 -py

(-, e T3l Gyl (=), =) 0
teal plas (BNC)U(A-B)U(B—C) s4cgaro waia —FY

A’'NB' (¢ C' v B’ (v AUB(
Sl PSSV, 1, Y, ¥, B, A, e saL3S 3l obd g pbd (salos SMSI —FY

oo (f YE (Y VY (Y A\ANQ

Slaslone plovl Joee

604D



604D

ol Pas Jigw

PR salez il cwiid WSS SO pguw U Jol e iy 4 «Culipud glus saIlis SO I ol g pated (pg0 SNz S —FF
Sl ‘swa.'v.b &5‘“"-";" ) ‘54.1.0:? J.ﬂ}g > ‘53‘.“9 ‘54”._.5.)

b b
) —S Yo (Y —Vo ()
oAy v ¢ ( (¢

Sl AT (11 ySna ol plad ol5yT el sinYou = “‘T—" s YO SASEN S —FB
r<m<y+4Y (f Y+JY <m<Ey Y+J¥ <m<o(y fF<m<Y+JY O

fudl o COLO yly Wiz tanB bl JLlis pguw 1) 50 slasgly O 9 sin9=—% S -¥f

1 s \
10 ¢ EyS Ry Vo ()
v ¢ o ¢ 16 ¢
y Sl plaf d s Towe 31 (Bye op) JSb @ amgi b —FY
d, %\/F—\‘-(\
x|/ ]
; / YUY -y
/%/;"*""" YWy —fr
- “f )
YWY Lo
v
bt corlane dmy ABC elio camluns cams il BC gl 5 3,ls glii)) AH  B=Y-".BC=A .AB=5 ,SIABC &dto ;o -FA
?C.ua',cL.\!ABH
MY ¢ AT ¢ MY LV
a 5 3
S plus (tanx+cotx)' (\—sinT X) &yle gondoolw -F4
\\* (f \\' 4 tanvx(\’ cot" x Q
sin' x cos' X
Sl oluy SIMOHYCOSQ | (oo v S A
= Ysina—Yeosa Jolo il s-e
—Y(f —f (¥ £ (Y YO
. x‘“—x"+$—i
Sl plaf plyy A=1/(A=YVX) = YWV fols ol5T il $X—¥ <o ,51 —0)
\ )
X—— (¥ YX—=\ (¥ ——Xx ¥ V=YX ()
Y’( ( Y ( (
Sl FF U ol ¥, UYT LUV L U L alis j ales paenin —BY
o (F o205lgs (¥ o203k (Y o2 ()
P N R
+ — p—
Sl plaf Y= 1= V¥ 3 X=1= V¥ ghilay T 3, yr b Sl Jol> -oY
x" —xy" —yx' +y
5 v 5 v
Ot — v« =0
A Y Y YT
Sl plas X7 + Py’ —FXy —YX+FY Jool> il X—Yy=2a 51 -4f
(a+)" (¥ (a=) v a' —va (v a’ +va (\

Slslons plosil Jouo



O P

05,05 dgarg Jale olss X — %" —¥5x" ga 500 48

X+ F X —Y (Y XHY Y X (%

TayJ ko hebiia Gadia ) K PX' —IX+F=o galolra M fidko oS sfslas

(e —ey o W - o

St SHATK (gl grals sfike (3 55 K g auiily plocio i Ghdury g8 (SIS —¥X' + KX —A=0 galslao 1

% (F Ay VY _—

Eant oIS oF braea ity 0y0 yosiitis FO Jaltins cotf coorbuns 551 ansl o oy tlot ¥ 51 gt o giilen ¥ Juliioms 53 Jpbo
Yo (f Vo vF Y VA Q)
St oS B+ ool il y1 5 oot &3 bgpe Y= X' —aX+b galobus 51

V¥ ()

YE (¥

A

YY (f

Tl oIS o GalOlno .Sl 0555 &l ¥ g Jobo s ol 10 Iy X jaomn g — V¥ (S0 4 glabalti jo. 1y BY Hemo (oo Ky
Y‘=XY—fX+"<.\‘a ‘ yzwx“—'ﬁx-d*c&

y=—x" +FxX—Y(F y=x'—fx—ve

g 0l BC Job ally ptyy o2 b oalisliut (g4aml 99 Corbune 45 0 o0 oy G098 BC (g3len 1y MN bso)ly ABC ilia yo
¥ (F v N N

St IS 7Sy altn Corline (S (Ul 4 Argi b ckidliga (S3f0 o b palii dy i 5 JSCb Eubo 93 EVSH

YY/Va ¢
YWY
YYD Y
SY/0 (F

st > Co bt (paiS oo oty BodElE (Gilae ¥ ds Y Coni b 1 MIN b oyly .ok -E b by LoaslE Coni ABCTY gadijed jo

Yo 1798
YA ¥

{3 3 Yo o™
Y VY ¥y

bt b o 3t Jalo cadl anly VIG5 KagS e abd o iSips Jobo 55 st {- e sohyt G lrama o diliiia Sl 93 50
‘ Pt alaf S50
F/0¢F \O/D (* VWO (Y /6 0

-OA

~8%

-

—FY

-FY

-F¥




ety petics: J15ae

0055 sy (fifien oF o 390k lad iz s Sy (g alails Sy 3
Tyl ads e 5 gloo,yl5S 5 Suplas
sl 5y cdgly o 5T & 3 gy r S sS (gl wdize )5 (Y
Ja)l.) )“‘,J" LngJa,:u sC,‘;»L....a.@at ‘_go.ﬁlb' P 4
el (300 Sy adly S B datedges Gulaylal I (So oS (o=loylez 0 (F
Sl domys iy @ sl AL B 9 A 555 Sai OB 5OA 51
Y R&¢Y
Y Yo (Y
Vol €Y

Yoo(f

A o

X4
Y/
s

Pl SRS X Yo ogpy SR dy drgi b
o

& ¢y

e

Yo (F

St RSN i 0§ SR 45 dgi by
¥ ey

VY (¥
A4
£ (f

_5%

-F4

—v‘m

- ’HréQ.cgm
e (550 o (Gady S (Gilw e plSR
S oyl 1y bt s By ol 4 i ge (Y 5T ol |y S 5 s slmgdt 3 (S leien O
28,5 ook by sazSanes bob S5 (slail 5F B e sn (F L&y onsl 1y (Fi2 slegil 3 (S Dl (F

-v\

o 4 Comily 3 sl ) kil 50 o 3T Sty 3 (395985 e 3F (S Gl 3 g 03l Sfaie —YY

SE o8 ool - Lol slac. oS (¥ SE e85 sl - Lot slacaaS oS (V
=B slacuaS - Lol slac.aS oIS, (F oA SlacaaS_ Lot slacaS (¥

Solaltona plovit Joua



wdle) s Jlhw

Tl Gy 33 gy 35 51 S plas

fykg=¥/vx) g (v 2/eF5pC=¥/8x1o" " C ()
Fox1o s =r/oxye s (F Fpl=¥x10°J (¥
Lh_e.l): 4-3) .Ca.nd' )‘}.}' C,T c.é.: }f‘)..‘ ............ (5“5) 6‘#)‘}!‘ )é 9 )‘5.3' OT C,éé ﬁ‘f ............ E)M 6'.&)‘})‘ )é 6)*_50}‘&‘ ‘sth" s,;lS )s.b 4.3
(G2 @4 cwl) 3l
\ \ \ \
+_ci i\ ‘:t'_‘ Y‘ _s\ Y \ 4"‘(\
Y A\ Y ¢ Y ¢ Y

Gy (aaS S 19z adpo ol Bpan 33y B LD 395 3 Sl p 5T il 6 aabas Vo Cusaz 9 39290 O (s 4 azgi b
(D9 P13 (AuwasSyad) 39, 190 JLocks) Sogidsa 0ppsd of yid aiy Jlo o3 59
A Vo o AL v

kg

\

4=z (Jab) dla! ol 51 i Sy oy O 0 i Ty Fooo = S8z 3 o Bl ) Canlinss 4 (Wgh) S gi sailyinnl Sy 25 S5
m :
Yem

\cm (T=Y) Sl p,55ls
YA QN
A (Y
\2i A

V470 F (F

ol 4l y1 yhoglsS Wiz V ety Jo3tRe VY00 olgale cusiar (53 510552 (o0 (305 195V Sl (505 b e Yook Cull oy 41 (sloylgale
axye ()
¥xye (Y
q (Y
¥ (f

S92 LU oy oy 4 U i o0 bodw il o 4 sl b3 (59, “\m‘. GLd b g oud by 550 O gyl 51 YKE o2 4 o
s

m
s\'

(8=Vo70) Towwl Joj Wiz glzaslr ool 50 9o Cwglie

Ve (f —Yo (¥ Vo (¥ Ve OO
T . & I’ . & v m oo

s o o bl J93 IF 2l eadd o0 el manr (2 (595 45 ) I 55Tl 5Lt 50 ¥ 5 (gl (505 b FRE oy &t (oo

o (f f (Y Y (Y X4

5109 o0 iBgin g 08yuF 00 pid VoCM 1) 5T «yid Ly 0595 31 51y 9 0 1) (398 JU> 51 PG oy &y glalalS 5 UK Gulhao
Joj v—=2 (p—am BBy )l LT Sl (59— ;L5 (DU J95 1V =8 Sl Juily (65— y—aadi (50310l

(sinyo° =%, cosYo’ =g, g=\ol1:;) SO
—Y ()

—\ (Y

(Y

\(F

Al

-v¢

-Ybo

-vs

-vy

-YA

-va

_.Ao

Sl plosil Joea

604D



ol @ Jlgw

9 (B ga i) ;:.é;a,_; S Se ply 33 9 08,5 Z,1 Jolw Curidg 31y ol (5959 9 o gl lhuw 3l laglS (5 JSKb @il —A)
Igp Cuoglio 1) Sy (ABI Cauridg 4y Wilgts yloway y B ol 4l 1 y2o wiz A (gadaiii 1 joae B V Hlado o S WS o0 ) (pusas

(sing<° =§ , COSSo’ =% s g=\=l:) (o9 Jai8 po

a wWr O
=

e f (Y
\&

Y (Y

Y (f

G 1 e (GO £y (Al 4y LTy 30 b o0 JB Y 4 5yl whaw (ol 5V, adgl (T LIy M oy 4 cowns> -AY

r
Flawl ool Al adgl ahiis (G551 51 (puaS 4z plawls (ol jo .ol adgl
A4 A ¥ f
Lr S — (¥ —Q
VA ¢ a ¢ VA ¢ ﬂ(
Ol LI A amdilo b auws e jo B pudilo el sy 3o o 1o B g A s yaiile 41 bgs o a5 335 Jouo Oledbl 4 4z b -AY

() 59959 5551 | ) awdo 5 FeS = Fobe ()
A oedlo f- Yo Pt = Fobe (¥
B Heile e Yo P =SS (¥
S5 - Fes (¥

ol (e g 4z 51 TIL S o0 0)ly SOy ) Aol punnr S D)3 45 (19ys5 —AF
2,5 (F S (F latan (Y omeboliie ()

(39t 3 A5 (i3m0 L3) adends (435 0,5k Lol ctilanazy |y Al (15 o0d e &y o (sloanlad (40,5 3055 b Wik o0 adend (389 —AD

Sl ool 4 35 o1 35 oug iy (3l dagd g oo Yo Adend Wil
Los Siuldl b ooz )35 ialS'(Y Lo Lt b cnz e G20l ()
Los (a8l b ooz 55 a3l (¥ F9geirm Slogy (o9 9y0lsS (V
b o slan HLED nlyt 93 L3S 4zl )3 ol 1 e s (s 4z 53 Cansl Sl 1D jilys laumo (5lg HLES (slazlyys bl 45 -AS
(Fhf‘% ,8=1000) Sl
cm S
Vol (f Yeoo (¥ Yo (¥ Vo ()

m p R ) -
(g:\os—‘_) ¢ ! ,.wp—" S bl ol Jlo 50 S U salgh Xy 10 Py 9 Py B IE2 b asle 93 4305 JS5 53 —AY
\

~
—

~
—

~
-

‘|t o <1t ~«|o
~
4

Sl plowil Joxe



agdly gty Jihan

Sl 3 9 i g 5 g sl By 51 550 (5o criily V/DET Mgl 45 il 3512 S 4o —AA

4 k 1
\/? g -g: ﬂn—!.—“é-)

(cosys’ =T ,stnYe’ = % »,P =vscmHg =W Foe—
' m s

»P oga

Aol ()
/o (Y

LAY
Fhoo (F

Land g0 LS (hayd &y ST 35D 5l pur 52 259 SBg s JSB plus’ —AQ

Moy =152 p J:\ir,:g:w»%ﬁ) P T JilyglsS .. ) 30 510 o3k St ppj JRB 50 —Re
€M il
stz Vo )
e =Yoo (Y
RN
FRECAN

Sl Canryd g s Sy plas’ -9
DLTd (6)2 80 g (ae) (S0l sonile (glopate (5 olalS i A (y39)0e0 9 (5T ()
il Ykgm ST oles Js5 oY
ol sl S LA anlia yo T gzl (Y
I GuS g gole et 0, 4F wries glaazsl o il glaosys (F
GH, (3P, VO) Sl 15 i p1aSl sl Boygyish o BgyiSH st coglis ((H,POY ) Slinad (39,0855 g2 3 —4Y
o (¥ ' ¥y ' R4 ‘ Y
fant plasashs gl oo aibids 0955 .9 puinils (50390 534S (g paie  ooil die —RY
A¥ (f V(¥ Fo (Y Y ()
Sl iy 51 JeS (5 5lgh 90 IS Tgo Jgb gl (yigyad slopdl (S gyl b o -AF
sl GLS 3590 a2 o (F ohin g 2 (F (s § o (¥ e 95280
$3g0 o0 Alilio 9,59 9 il (ot (59, SN iy chailgan pomailiy Jgo o/ LS (glilay A0

¥roax)e' Y (F Froyxye T (¥ VYo XY (Y a/s¥ XY ()

ilguilona plovil Jone




il s I

i god IS (03 IST (o1 cJgaxo job 4 Jguar £9 5030 o paie 51 shasi g -47
¥ (F Y (Y A4 £
Sgmr g0 oyt SBpil o dy (ylin. 53 29290 3955 ST Yol Commd Al il o b ooyt 1355 pmsanalinws 9 (3o 1 (2 UBdiged ey )51 AV
(C=\w,H=y,Si=YA,Br==A- :g;.msol_‘ ) Sl @IS iy 1 anibias: 3¢
O/FYVD (F ’ \TAR B Tax $IY NV (Y /EYVS

| R Tpe— SHY 5 4 A 031 (g Gy 2y10 Gumunl ol (o ST g 3,10 gl Johr pgws g0299 30 A pais —AA
4 il oo JUl (355N 31 AsY 34 v o
O P (¥ ¥ Py &S (Y A\ N Q!
B GRa . S plaS g5 A juaie 035 cai Som LT (goasl 5 o) pif gy Gyl aF Canl Jour yuais puiwii A pais -84
' Sl sloygd Joazr yolic ailSlez
f caws (F d sanos (¥ P sazws (¥ 8 (g ()
Sl ol Ly Syl 53 5 G 3 Syplas OyylsT Yoo
135085 255 2,157 ()
e dlge (g l8ile lil zy3e,0 (
leslse sl gl 53,5 5 10s5T (F
55 SRS ;3 (S Slalad (3,5 S sk (F
’ OV Y KT - 08551 B qale glop puladi wislyd ya. —Yol
O3St g O3 sl 5 e (V O3St 3 S 9 5 S5 G (V
O3ers 3 5 S g 53emST SIS I e (F O 5 Giaed IS ) JE (F
FCawwlaonims JiSTy 3F K yiaaSt 35 Oylae. 31 s ag- y —Yoff
Sl jlugls-gur & S g S gulwyi e w9 Guwgy ® A slgs dluse
v (F ¥ o v ¥ (Y
Fiensl Cantyal 5 cdllne 3 Syphas —Yat
5 5T sl 0l e el i 5 SO (COY laglF sl 55 5 S35mmge (emeST sgim 3 S JIE5 €1
s (S aTiad )3 (S fae ay Jond GO g (ger (2SN )3 o yglE g0 (F
ol b o b 53 5] L5 Sl 5 ol 505 Ty Sy 1,5 3 S €1
g g0 ST Tl colie Ll o ojld jf oS Les (F
funl JSyp aigs i SuphsS Joo oy aijlge F g opry STy Gelolne 53 —VoF
AL O, +NaOH+HF —> Na, AIF, + H, O
Na AlF, ¢f HO HF ¢¢ NaOH (v
Sl Camniydl g1 5 o jH S phoE Yol
el 08T S8 & oy T 5 st B iy &5 Wipd o Cdly (oS JSS 4y Camenlo o lagls CLELCY
S o Jrams ()5 alazil a4y ) 20K (glaasy 3o AVl pmaiengll 5 50l g (335, S5 (¥
Ll olpots (5 Agi by yZ5m g T Ty wiibass. ol SuiSTly ¢V

iSgn sl X T g X 535 98 59 g, wiitemn ol (F




ol P> Jlbw

Tl Cawyd SISl 50 3,595 315 5590 yo ) Sl jl olaxi am —Vof

D9 o0 S daanS 55 35505 55 41 jaenS 1 5L S g ST 5 5 ! (1

ol LolSg 5 5 (o295 S35 952 (&

218 3929 AilSys Wigwy S 9 A Wigmy Sy ()] JNge JliSlu 4o (@

g o0 slad & 55 ol addgi @ilin 51 Jlad slogyLiadsT (o

¥ (f Y Y (¥ Y ()
Sl Cawyd o Fe g o Zn (0 Al 516 4w 3590 55 325 Al plas’ —Yo¥

i o STy (st Jpbn b 306 s 5o (1

sl AI>Fe>Zn & jg0 4 Sy bl )0 bl (503 55Ty gambio (&

ol il o b3S duw 58 il (Gig iU GlalyT 50 39290 (393U 5T H 91 £ 90ma (@

ol Al>Fe>Zn ojg0 4 bl 09,5 50l (gamnlio (&

«&» oy (F «o» o (¥ «S» &Iy (¥ «o» «I» ()

............ A AR 0 Fy 3 Oylee pled (IS 4y ST (39381 L —1eA

WS o yundS oLS uyTwd O Gdae Slge £o3 (Y S oo yuaid ol o Tws j0 (gawe olge lads ()

b oo Rl (65,9LaS 18 (690,40 (F b oo ol S5 pH lage (¢
Sl 55 S5 due Gignl (S9N sloud 4y Gigny (Lo I Hlod S 15 (SBT3 Sy plus 0 -4

SenSgige (39ydcsd (F SenSlgs S (Y SeaSgige 02,5 (¥ SemSige 3955 ()
(531 51y Sy (5los 55 LJalone plos) fuwl gl plu 3 Fsiu o Jolono 95 plaS PH wglis — V1o

SPazsS Ol g odme gl (¥ odse el 5 5,095 53k T ()

odms oyl g 5 Blarl (euriShes Jolra (F 0363 5 5L Wg) Jolore (¥

Sl plovil Joro

604D





